(RN
<

= b g I
o [ ©
= - 5
5 : : :
107k i i :
E 10_25_ F o EPT """"""
10—3 = B + ‘"' £ :

E 10735_ """"" U1 ""+:"“ N
.91034‘1,_ L .......! ) -91034‘1,_ L ...! by .! L bl ..! L
I r I r :

04 r 24 r :
1_— ------------ L R 1_— 1HP-E ------------
0.95 '71 ; . . 95 '71 i . .
10 1 TPlpg)T (PCA t%obeamlin:elf) 10 1 TPlpg)T (PCA t%obeamlin:elf)

=== DQM NoFITZ_StepZ_Ttbar-phasel-Newgeom
DQM_Fit2_step2_ttbar-phasel-newgeom
DQM_Fit2AndCPEGeneric_step2_ttbar-phasel-newgeom
DOM_Fit2AndCPETemplate_step?_ttbar-phasel-newgeom

= 1= = T

€ : S :

) o booreeaiapas e s
= = .

—~ — .

< -

° O

9 -

S [s]

1072

91 \—J%- 910\—1%- A |||! " 1 |! " 1 ||! IR ETIT
§ r § r : B :
Eoed i Eoed i
0.95L : : ; 0.95L

10 L 1P (pca dbeamiindf

a0 p,/p,)

10 R B A L A R I

iy

3

0.95 .
10 1

: 2 3
TPlFQT (PCA tloobeamlin(:eL)O



	Contents
	Page 1


